19 e>epy.s TR

gz W No. 2ftavy ERER BEST = GAP P
EX+—I5R RERR
1 6|EH F5th vaov SXE10 |1Mizx#E>THWLWTILTYI7T 1:18.863 1:30.293|P1D1(1:18.863 8
2 S|ARER &3 ayv GC-8 ERAERO>E@FRER 1:19.275 1:19.330 1:19.275| 0.412| 0412| 7
3 8| FH F Ay DB8 VIO —DRDAUTR 1:22.444 1:24.145 1:22.444| 3.581| 3.169| 6
4 1E&F & P EP91 H=LDT o4 -H9—Lyk 1:23.682 DQ 1:23.682| 4.819| 1.238| 5
5 2|k ER Aayv CNO9A [#F @525 —EVO4 1:25.252 1:25.772 1:25.252| 6.389| 1.570( 4
6 3|l Ak a9z ZNG N—AR)RLD86L K 1:26.565 1:30.909|P1 |1:26.565| 7.702| 1.313| 3
7 41EH RE& CB365 PP1 BEEE—H 1:27.527 1:27.899 1:27.527| 8.664| 0.962| 2
8 7| FIR =MW AY< GC8 a3k ATy 1:43.742 1:42.235 1:42.235| 23.372| 14.708| 1
SFLOSR REHR
1 11| V&DIYNY | PaYT SXE10 |IE~WAV&2IYIFAT~2Y, 1:15.510 1:16.642 1:15.510 8
2 9|6H & >Ayv DC5 A@DCSAIUTI S ! 1:15.608 1:16.358 1:15.608| 0.098 | 0.098 7
3 14|&18 #X P 7277231 |REDENSP->TE=EYH 1:16.269 1:20.767|P1  [1:16.269| 0.759 | 0.661 6
4 10/hE FiE >a9< NB8C [SATHRATyLaA—RRA— 1:17.422 1:22.576|P1 |1:17.422| 1.912 | 1.153 5
S 15|8§A8 XK HPEEE ZN6 PH5H86 1:20.680 1:19.746 1:19.746| 4.236 | 2.324 4
6 12| #oi TAVR GC8 DXLER ATy 1:21.550 1:21.707 1:21.550| 6.040 | 1.804 3
7 16| RE B aovw GDB BrEoltnr> % GDB 1:21.825 1:21.874 1:21.825| 6.315 | 0.275 2
8 13[IuEx 2 vaov CT9A BENREINRS 1:36.494|P1 (1:30.808|P1D1(1:30.808| 15.298 | 8.983 1
AVNINISR RERR
1 21|¥1R AR >Ayv NDSRC |my<wOo—kRA— 1:15.165 DNS 1:15.165 8
2 18|4EH #hiE P GE 8 2a93MIET vk 1:23.094 1:21.079 1:21.079| 5.914 | 5.914 6
3 19|17k XH A< DJLFS |mMmE&EETIA 1:23.807 1:24.335 1:23.807| 8.642 | 2.728 4
4 17| X8 # Ay~ D5FS K2 /\FEFDESFST=A 1:25.392 1:25.421 1:25.392| 10.227 | 1.585 2
S 228 KE vay= ZC328 |JIBRXFXERA( Tk - - DNS - - 0
6 20[ & 1H4R vayx NDSRC [BEMDNFHEO—FRX5— - - DNS - - 0




